Multipliziere Dezimalzahlen mit negativen
Zehnerpotenzen

4731 x 0.0001 =

6517,7 x 0.0001 =

3468,4 % 0.01 =

Datum: Ergebnis:

2469, 8 < 0.001 =

6487,7 x0.01 =

5636,7 x 0.01 =

3405,5x0.1 =

3403,8 x 0.01 =

1006, 2 x 0.0001 =

4432,5 % 0.001 =

7591,6 x 0.1 =

4698,3 x 0.1 =

3558 x 0.001 =

6814,5x 0.1 =

7593 x0.01 =

8566, 1 < 0.001 =

5723,3 % 0.0001 =

7782,9 x0.01 =

9377,2x0.01 =

7829,8 x 0.01 =
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@% Q‘:Q? %f Multipliziere Dezimalzahlen mit negativen

Zehnerpotenzen
Name: Datum: Ergebnis:
4731 x 0.0001 = 0.4731 2469, 8 x 0.001 = 2.4698
6517,7 % 0.0001 = 0.65177 6487,7 x 0.01 = 64.877
3468,4 x 0.01 = 34.684 7591, 6 x 0.1 =759.16
5636,7 % 0.01 = 56.367 4698, 3 x 0.1 = 469.83
3405,5 x 0.1 = 340.55 3558 x 0.001 = 3.558
3403, 8 x 0.01 = 34.038 6814,5 x 0.1 = 681.45
1006, 2 < 0.0001 = 0.10062 7593 x 0.01 = 75.93
4432,5x0.001 =4.4325 7782,9 %x0.01 =77.829
8566, 1 x 0.001 = 8.5661 9377,2 % 0.01 =93.772
5723,3 x0.0001 = 0.57233 7829, 8 x 0.01 = 78.298
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